0001751908428999

&0 EREAEEAY 0—0—

2012 4E YL L 55 2 [ 14X 8 /27%

2 z0EX f,(x) (n=0,1, 2, )%

fox) =1, fi(x)=r,
{ Frt1(x) = 2xfn(x) — fp-1(z) (=1, 2, =)
TEDD.
(1) AR fs(x) =0 &R,

(2) fnlcos@) =cosnd (n=2, 3, 4, b) Zx=t.

(3) coslﬁ—o, cos ?g , COS zg Cos % D% Kb k.

(1 F200 = 2% F1(0 =~ fo() = 2221
T30 = 20420 = F1(x) = 2x(2%%-1) = % = 423 - 3%
Fa00 = 22 F300 - f200 = 2x(433-31) =(22%-1) = 8x* - 8>+ 1
T () = 2x-F400 - F3(2) = 20 (X ~8:C+1) = (42°-3x) = 1635 - 2023 + 5%

“Fs0 =0 ou. x (x4 -2002+5) =0

: *450-4-16- 101205
. x:o‘xl.___ 20324'0 ‘4‘!65 <® x=0,t T

(2) ¥R N :E 5T € Nn=2,3,4.5 11T%ae 153 25F0R (7L (0
(In=2aqr%

facos0) = 2cos*6 -1 = cos 26 - Fuio

(In= RELART N YL v 4R E T3¢,

'j:fq (cos8) = cos kO

20e¥, frei(cosp) = 2¢050 Fg (cos9) = fQ-, (cos @)

= 2cosh0Ocos @ — cos (R~-1)0

2 {Cas (k-1)6-cos® - sin(R-1)8 s‘me} CosO — cos(R-1)8

n

cos (k=1)8-(2cos*0 = 1) — Sin(k-1)8 - sin 20

1]

cos (R=1)8 cos26 = sin(R-1)sin20

= cos (R+1)0
Cpn=REIOET U0,

(.G &Y. n=2.3.4.5 T fn(cwsB)=cosng " M yn-> B
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2| z0EKX f,(x) =0, 1, 2, )%
filr)=1 filsi=m
fﬂ+l(1'):zxfn(l')_fnfl(l') (n=1, 2, =)
TEDS.
(1) /AR f5(x) =021
(2) fa(cos®) =cosnd (n=2, 3, 4, b) Z/RH.
(3) cosljio, cos ?1’76 . COS ?5 , COS ?g DiEZ b k.
(3)(2) I ')cg(cus )= cos 56
thi g & B I T sqpalr
Tolcos B) = Fsleos 32) = fslcos B) = Fs(cos L) = 0
ST &Yy, cos % . Cos%r, cos-:%-( , .:.o‘;-?—oj-r-t 1% ()= oo @ T
IR O TIFEHL,  cos ?—ff < cos '-%f < cos ;377} < cos ;%— &Yy
P B 2 Ji0*2[5 3w _ A10-2{5 qr _ Al0-205 an __ Alot2ds
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